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# %] 46, 039 109, 373| 53,565] 55, 808 68 28] -45 66 111 73] B42[ 469 0 170 170
F—TH 669| 1,436 700 736 -3 -6 -2 0 2 -2 2 4 -2 0 2
FLL T H 547 1,319 666 653 2 -1 -1 0 1 0 3 3 0 0 0
FLIL=TH 449| 1,041 501 540 0 1 0 0 0 0 1 1 1 1 0
Jui&EF 1,665 3,796 1,867 1,929 -1 —6 -3 0 3 -2 6 8 -1 1 2
Sk T8 4771 1,008 482 526 0 -9 -1 0 1 -1 5 6 -7 0 7
| 755 1,851 899 952 1 1 0 0 0 -2 2 4 3 6 3
s =18 515 1,256 618 638 -1 0 0 1 1 1 6 5 -1 0 1
b ! 374 919 443 476 2 6 1 1 0 0 2 2 5 5 0
e 563 1,279 628 651 —4 -5 -2 1 3 1 5 4 —4 3 7
Sk aNT B 224 497 237 260 0 -1 -1 0 1 0 0 0 0 0 0
s 630 1,643 815 828 0 -3 0 2 2 -3 4 7 0 2 2
S\ TH 388 916 454 462 3 3 -1 0 1 0 0 0 4 4 0
s I 598( 1,468 735 733 1 6 0 1 1 -1 1 2 7 7 0
M naitl 4,524 10,837] 5,311 5,526 2 -2 -4 6 10 -5 25 30 7 27 20
ko - 18 326 805 406 399 0 -3 -1 0 1 -3 1 4 1 1 0
Wk R _TH 939 2,055 1,015 1,040 6 10 0 1 1 6 12 6 4 4 0
L O =l 658( 1,457 704 753 3 -2 -3 0 3 -3 5 8 4 4 0
W aaEl 1,923 4,317] 2,125 2,192 9 5 -4 1 5 0 18 18 9 9 0
Mt a1 H 566| 1,270 625 645 2 1 1 1 0 0 3 3 0 1 1
Bk _T8H 376 902 477 425 0 1 1 1 0 -1 1 2 1 1 0
Mt A =1 H 241 553 274 279 1 4 1 1 0 7 8 1 —4 0 4
[ e 542 1,334 685 649 -3 -6 0 0 0 -4 1 5 -2 0 2
s AAE 1,725 4,059 2,061 1,998 0 0 3 3 0 2 13 11 -5 2 7
pELigul 354 978 426 552 1 -2 -2 0 2 -2 5 7 2 2 0
HOEFRL—TH 152 380 180 200 -1 -3 -2 0 2 -1 0 1 0 0 0
HERI —TH 415 997 473 524 5 3 3 3 0 3 9 6 -3 1 4
HOEFRA =T H 658( 1,696 812 884 -2 -2 0 1 1 0 3 3 =2 2 4
HOEEAMN T A 711 1,809 881 928 -3 -7 -2 1 3 -4 2 6 -1 0 1
HOEFRA R T A 399 956 478 478 2 3 -1 0 1 4 4 0 0 3 3
HERINTH 391 952 463 489 0 2 -2 0 2 3 4 1 1 1 0
HOEFRAL TR 642/ 1,460 709 751 2 2 -2 1 3 5 16 11 -1 0 1
FOEIIEER 3,368 8,250 3,996| 4,254 3 -2 -6 6 12 10 38 28 -6 7 13
PEEEA|  1,476|  3,010[ 1,409 1,601 0 -7 -7 2 9 7 12 5 -7 0 7
FHIAR 328 703 356 347 2 0 -1 0 1 1 2 1 0 0 0
EIA R R—T [ 435 949 463 486 -1 -1 0 2 2 4 5 1 -5 0 5
B T H 236 494 252 242 1 -4 0 0 0 -6 2 8 2 2 0
EFAHR=TH 488| 1,136 570 566 -2 -10 -1 0 1 -1 1 2 -8 0 8
IR T H 573| 1,222 576 646 4 0 -2 1 3 -3 6 9 5 5 0
EFFARRTET A 199 518 248 270 -1 -2 0 0 0 -1 0 1 -1 5 6
EEA R AR 1,931 4,319] 2,109 2,210 1 -17 -3 3 6 -7 14 21 -7 12 19
B AR T [ 655| 1,398 668 730 -2 -6 1 2 1 -7 1 8 0 1 1
EEAAN T H 646( 1,334 632 702 3 -5 1 1 0 -1 7 8 -5 1 6
 EEAARRTARE 1,301 2,732 1,300] 1,432 1l -11 2 3 1 -8 8 16 -5 2 7
IR 318 890 498 392 -1 1 -1 0 1 -1 1 3 4 1
HHER-TH 694] 1,679 842 837 -2 -3 -2 1 3 -2 3 1 2 1
HPR T H| 1,491 3,644| 1,792 1,852 0 3 -1 1 2 8 32 24 -4 3 7
HER=TH 815 2,180| 1,068 1,112 1 -1 0 0 0 1 5 4 -2 3 5
HHRMT A 485l 1,191 573 618 6 19 0 0 0 10 14 4 9 9 0
WA EH 3,485 8,694 4,275| 4,419 5 18 -3 2 5 17 54 37 4 17 13
HR-TH 641 1,567 765 802 7 15 -1 2 3 8 10 8 8 0
PR _TH 863l 2,220| 1,089| 1,131 6 11 0 2 2 10 13 1 2 1
IHR=TH 440 957 503 454 0 -1 -2 0 2 -5 2 6 2
b Rasr| 1,944 4,744 2,357 2,387 13 25 -3 4 7 13 25 12 15 18 3
H R 319 809 386 423 1 —4 -2 0 2 0 4 4 -2 2 4
Wl 1,563 4,959 2,265| 2,694 -1 -3 -5 2 M -11 3 14 13 16 3
mME -1 H 774)| 1,868 925 943 4 6 2 4 2 9 10 1 -5 0 5
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muE 1T H 697 1,870 958 912 0 1 -1 0 1 1 6 5 1 2 1
HYE =1 H 625 1,574 789 785 -3 -8 -1 2 3 -1 4 5 -6 0 6
M EN T H 880|  2,191| 1,077 1,114 -1 0 1 5 7 2 2 2 0
Y E ] H 584/ 1,412 687 725 0 0 0 1 5 4 4 4 0
mE /ST H 405[ 1,038 497 541 0 1 1 -1 0 1 5 5 0
s AL 3,965 9,953 4,933 5,020 10 14 -1 7 8 14 32 18 1 13 12
LR 494) 1,122 549 573 -3 -12 -1 0 1 -6 3 -5 1 6
—T H 324 690 340 350 1 3 0 2 2 4 4 -1 0 1
i —TH 585( 1,347 661 686 1 0 0 0 3 -2 1 3
B 909 2,037] 1,001| 1,036 4 0 2 2 7 -3 1 4
Bi—-TH 305 677 343 334 7 0 0 0 6 107 101 1 1 0
i _TH 652 1,399 682 717 -3 -7 -2 0 2 -3 1 4 -2 0 2
EIM=TH 394/ 1,009 516 493 1 2 2 0 3 7 4 2 5 3
ghAsk 1,351 3,085 1,541| 1,544 3 0 2 2 6| 115 109 1 6 5
HE T8 382/ 1,026 490 536 -1 -1 0 1 1 -1 2 3 0 0 0
= 425 1,081 533 548 2 2 1 1 0 -1 1 2 2 3 1
WE—-TH 763 1,964 996 968 -2 3 1 2 1 1 3 2 1 4 3
W EM T A 450[ 1,044 498 546 1 -2 -1 0 1 -2 3 5 1 2 1
W ELTH 727 1,677 816 861 0 -5 0 1 1 0 5 5 -5 2 7
HHESNT A 219 484 248 236 -2 2 -1 0 1 3 5 2 0 0 0
HHIESE 2,966 7,276] 3,581 3,695 -2 -1 0 5 5 0 19 19 -1 11 12
<HBEL—TH 609 1,446 712 734 -2 -8 1 1 0 -8 0 8 -1 0 1
<HEWL_TH 693[| 1,530 757 773 1 1 -2 0 2 5 9 4 -2 1 3
<HBEL=TH 5100 1,177 588 589 2 1 0 0 0 3 5 2 -2 0 2
<HBEWLMNTH 494f 1,119 565 554 1 6 -1 1 2 10 13 3 -3 0 3
<HBELHRTH 363 794 444 350 9 9 1 1 0 8 14 6 0 0 0
<HBEIAE 2,669 6,066 3,066 3,000 11 9 -1 3 4 18 41 23 -8 1 9
WEAR—TH 787| 1,728 868 860 0 -6 2 2 0 -5 10 15 -3 1 4
MEAN —TH 4321l 1,090 543 547 1 —4 -1 0 1 1 2 1 -4 1 5
VIEARTSE 1,219 2,818 1,411| 1,407 1] -10 1 2 1 -4 12 16 -7 2 9
A& 454 856 429 427 -2 -1 -3 0 3 1 6 5 1 3 2
bk A 992/ 1,649 726 923 3 5 -2 0 2 11 16 5 -4 1 5
ok a_T8H 384 658 307 351 0 1 2 2 0 -3 8 11 2 2 0
ok e =18 610 1,677 781 896 1 9 4 4 0 3 5 2 2 2 0
EIE o L 376 796 387 409 1 -3 0 0 0 0 8 8 -3 1 4
sk oA Erl 2,362 4,780] 2,201 2,579 5 12 4 6 2 11 37 26 -3 6 9
R IR 21 61 31 30 0 0 0 0 0 0 0 0 0 0 0
ot 764/ 1,834 890 944 -3 -2 -2 2 4 0 4 4 0 0 0
PR 278 671 325 346 0 -1 -1 1 2 0 0 0 0 0 0
M — T H 405| 1,082 550 532 4 10 0 2 2 8 9 1 2 2 0
e T H 346 824 408 416 -2 —4 -1 0 1 -2 5 7 -1 2 3
MR AN 751 1,906 958 948 2 6 -1 2 3 6 14 8 1 4 3
mafEER—TH 610] 1,363 692 671 3 -1 -1 0 1 0 7 7 0 0 0
v T H 489 1,217 577 640 0 1 -1 1 2 1 6 5 1 1 0
P AE 1,099 2,580 1,269 1,311 3 0 -2 1 3 1 13 12 1 1 0
P e ) 288 670 338 332 4 7 1 1 0 4 2 2 2 0
BEHEIR 225 561 301 260 2 1 0 0 0 1 2 0 0 0




